
Parts Diagram

Warning: This drawing format requires special non-standard fonts!!
Make sure the appropriate font files are installed!!!

TT Humanst 521 BT (page heading)
TT Humanst 521 BT Light (drawing title)

O HelveticaLTStd-Cond (table column headings)
O HelveticaLTStd-LightCond (table text and call-outs)

 Table System
®

InTandem
10-Wire Beam with Data Cover

June 2018

©2018 Krueger International, Inc.  All Rights Reserved · P0035-0124 · Rev. 1 · Page 1 of 1

KI · 1330 Bellevue Street · P.O. Box 8100 · Green Bay, WI 54308-8100 · 1-800-424-2432 · www.ki.com

Item Part Number Item Description Req Qty Item Part Number Item Description Req Qty
1 47.0482.LENGTH.GK Beam, 810 Power 1 7 PC.44.0002 Clip, Inner Door **
2 46.0897.GK Cover, Rear Outlet 2 8 46.0876.L.XX Cap, Left Beam End 1
3 46.0962 Screw, #10-16 x 3/8 Torx PH Type B 2 9 46.0876.R.XX Cap, Right Beam End 1
4 47.0565.YY Wireway, 6-2-2 810 Universal 1 10 DZ.12.0006 Screw, #8 x 3/8" 2
5 47.0270 Reinforcement, Rear Door *
6 46.0895.LENGTH.XX Assembly, Non-Powered Beam 1

Item Part Number Item Description Qty Item Part Number Item Description Qty
1 47.0482.LENGTH.GK Beam, 810 Power 1 7 PC.44.0002 Clip, Inner Door **
2 46.0897.GK Cover, Rear Outlet 2 8 46.0876.L.XX Cap, Left Beam End 1
3 46.0962 Screw, #10-16 x 3/8 Torx PH Type B 2 9 46.0876.R.XX Cap, Right Beam End 1
4 46.0990.LENGTH.GK Data Cover 1 10 DZ.12.0006 Screw, #8 x 3/8" 2
5 47.0270 Reinforcement, Rear Door *
6 46.0895.LENGTH.XX Assembly, Non-Powered Beam 1

.XX = Select Color

.YY = Wireway Length (differs from table length)

.LENGTH = Length of Table
* = Item 5 quantity is two for 60" or less table width & 3 for table widths 72" or greater.
** = Item 7 quantity is one for 24" lengths, two for 30" lengths & three for 36" lengths.
Note: Item 5 is included with Item 6.

1

2

3

4

5

8

9

6

5

7

10


	Sheet 1
	Views
	new_view_1



